

2.79 a) $\int \sin 3x \, dx = \left[\begin{array}{l} t = 3x, \quad x = g(t) = \frac{t}{3} \\ \frac{dx}{dt} = \frac{1}{3} \Rightarrow dx = \frac{dt}{3} \end{array} \right] = \int \sin t \frac{dt}{3} =$

$$= \frac{1}{3} \int \sin t \, dt = -\frac{\cos t}{3} + C = -\frac{\cos 3x}{3} + C$$

c) $\int \frac{1 + \sqrt{x}}{\sqrt{x}} \, dx = \left[\begin{array}{l} t = \sqrt{x}, \quad x = g(t) = t^2, \quad t \geq 0 \\ \frac{dx}{dt} = 2t \Rightarrow dx = 2t \, dt \end{array} \right] = \int \frac{1+t}{\cancel{t}} \cdot 2t \, dt$

$$= 2 \int (1+t) \, dt = 2 \left(t + \frac{t^2}{2} \right) + C = 2 \left(\sqrt{x} + \frac{\sqrt{x}^2}{2} \right) + C = 2\sqrt{x} + x + C$$

$$\int \left(\frac{1}{\sqrt{x}} + 1 \right) \, dx = \int \left(x^{-1/2} + 1 \right) \, dx = \frac{x^{1/2}}{1/2} + x + C = 2\sqrt{x} + x + C$$

2.85

a) $\int 2x \cdot (x^2+5)^5 dx = \left[\begin{array}{l} t = x^2+5 \quad x = g(t) = (t-5)^{1/2} \\ \frac{dx}{dt} = \frac{1}{2} \cdot (t-5)^{-1/2} \quad dx = \frac{dt}{2(t-5)^{1/2}} \end{array} \right] =$

$$= \int \cancel{2} (t-5)^{\cancel{1/2}} \cdot t^5 \cdot \frac{1}{\cancel{2} (t-5)^{\cancel{1/2}}} dt = \int t^5 dt = \frac{t^6}{6} + C = \frac{(x^2+5)^6}{6} + C$$

F vara primitiv till f

$$\int f(x)g(x)dx = F(x) \cdot g(x) - \int F(x) \cdot g'(x)dx$$

~~$$= \frac{\overset{\text{aja}}{(x^2+5)} \overset{\text{baja}}{6}}{6 \cdot \cancel{2}x} \cdot \cancel{2}x - \int \frac{\overset{\text{aja}}{(x^2+5)} \overset{\text{baja}}{6}}{6 \cdot \cancel{2}x} \cdot \cancel{2} dx =$$~~

~~$$= \frac{(x^2+5)^6}{6} - \int \frac{x \cdot (x^2+5)^6}{6} dx = \frac{(x^2+5)^6}{6} - \frac{1}{6} \int \ln x \cdot (x^2+5)^6 - \int \ln x \cdot 6 \cdot 2x(x^2+5)^5 dx =$$~~

2.85 b) $\int 2x \left(\frac{x^3}{x+1} \right)^2 dx = \frac{\cancel{x^3} \cdot 2x}{3 \cdot 3 \cdot x^2} - \int \frac{\cancel{x^3} \cdot 2}{3 \cdot 3 \cdot x^2} dx$

Annotations:
 - A pink arrow points to the exponent 2 on the fraction.
 - A green arrow points to the denominator $x+1$.
 - A purple bracket above the fraction is labeled 'g'.
 - A green bracket below the fraction is labeled 'f'.
 - Red annotations 'aja brijn!' are written under the first term and above the second term.
 - A pink bracket under the second term is labeled '2'.

Testa trëtom?

$$\int 2x \left(\frac{x^3}{x+1} \right)^2 dx = x^2 \left(\frac{x^3}{x+1} \right)^2 - \int x^2 \cdot 2 \left(\frac{x^3}{x+1} \right) \cdot 3x^2 dx$$

$$= x^2 \left(\frac{x^3}{x+1} \right)^2 - \int 6x^4 \left(\frac{x^3}{x+1} \right) dx = x^2 \left(\frac{x^3}{x+1} \right)^2 - \int (6x^7 + 6x^4) dx =$$

$$x^2 \left(\frac{x^6}{x+2x^3+1} \right) - \frac{6x^8}{8} - \frac{6x^5}{5} + C = x^2 \left(\frac{x^6}{x+2x^3+1} \right) - \frac{3}{4}x^8 - \frac{6}{5}x^5 + C = \frac{1}{4}x^8 + \frac{4}{5}x^5 + x^2 + C$$

2.95 a) $\int \frac{4x^3 - 3x^2 - 2}{x^2 - x} dx = \int \left(4x + 1 + \frac{x-2}{x^2-x} \right) dx =$

$$\begin{array}{r}
 \underline{4x + 1} \\
 4x^3 - 3x^2 + 0x - 2 \quad | \quad x^2 - x \\
 - (4x^3 - 4x^2) \\
 \hline
 0 + x^2 + 0x - 2 \\
 - (x^2 - x) \\
 \hline
 0 + x - 2
 \end{array}$$

$$\frac{x-2}{x(x-1)}$$

$$= \frac{A}{x} + \frac{B}{x-1} = \frac{2}{x} - \frac{1}{x-1}$$

$$\begin{array}{l}
 \text{x-term} \\
 \text{konstant}
 \end{array}
 \left\{ \begin{array}{l}
 A+B=1 \\
 -A=-2
 \end{array} \right.$$

$$A=2 \Rightarrow B=-1$$

$$= \frac{A(x-1) + B \cdot x}{x(x-1)} = \frac{x-2}{x(x-1)}$$

$$\int \left(4x + 1 + \frac{2}{x} - \frac{1}{x-1} \right) dx = 2x^2 + x + 2 \ln|x| - \ln|x-1| + C$$

